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[AEM304] which of these is not an Advantage of Upward Communication
communication between superiors and subordinates is   poor

[AEM304] other disadvantages of mass media are, except:
mass media channels are inexpensive to produce and broadcast

[AEM304] The process of communication begins with:
Thought, Encoding, Decoding, Content and Context

[AEM304] Ã‚Â  Which of these is not an indigenous way of record keeping?
formal school

[AEM304] which of these is not an attribute of a good communicator?
technical incompetence and untrust-worthiness.

[AEM304] Mass media are generally good for, except:
Reaching urban communities

[AEM304] which of these is not a message design logic?
traditional

[AEM304] Examples of communication channels are and except:
a disconnection between initiating and terminating nodes of a circuit

[AEM304] Farmers learn in the following ways, except:
farmers learn best when the subject is stale
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